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EDUCATION

( Honours Core )

Paper : EDU-HC-4026
( Educational Statistics )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
TS AT frcrpi e foa -
fa) Who was the chief exponent of
statistics.
“Afe1e1 e 1o efigeErer @ =fee 2

() Compute mode of the data for which
mean and median are given 30 and 32
respectively.

R O] 2% S TR T 30 AF 32 ©F
9 IR AT 40
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(c)

(d

(e)

()
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(2)

is a bar graph with no gap in
between.

( Fill in the blank )

;%;_.&aiéﬁswm®nnﬁim@6(ﬁmﬂrmﬁTﬁi
|

(<R 31X oRer 41 )

What is zero correlation?

0 T 0

Write the formula of calculating
percentile point.

o1 R el 919 e s |

What is the value of kurtosis in a
normal distribution?

Felfis o3 Gbre Fgm@eper 1 16’ T
o 2

Which of the following statements is
true regarding negatively skewed distri-
bution?

4T Rl Ko/ v qe o1 st a0
%] 7

() The mean is higher than median
and mode.

TR 3 IS S @R |

( Continued )

-

(3)

(i) The median is lies between mean
and mode.

T 5TS I 29799 &9 A |

(i) The median is lower than the mean.
T AT |

(iv) None of the above
@ORT (FICAICBICER T

( Choose the correct answer )

( % TeI00! AR Sferear )

oo PR T fia

(@)

(b)

(c)

(@
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Find out the median from the following
set of scores :

wore Tt AR o[ T e
12 24 10 35 29 42 19 15

Write any two principles of constructing
a graph.

(rfod wisea [ e o1 S o |

Write any two advantages of product
moment method.

@Rl o7 1w R e 1o s &
What is normal distribution?
Frefee o3 T 2
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(4)

3. Answer any three of the following questions :
5x3=15
O] PP R e i Ty fin

(a) Write the functions of statistics.

ARz s FreTgz fora |

(b) Determine standard deviation from the
following scores :
©IT AFPITRS 1 T Rpife el <o

LSNPSR RT195007. ‘31 a5

() Write about the drawing procedure of
cumulative frequency percentage curve.

R IR X T4 S A7 Toicd
forn |

(d) Determine coefficient of correlation by
using rank difference method from the
following ranks of two sets ;

I T R RITARR K1 7 12 1S
IRE IR T g iy w1 -

Test1:43153257
Test2:31278465

(¢) Write the properties of
probability curve.

ﬂ@rﬁamﬁimmﬁazwmi

normal
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( Continued )

(5)

4. Answer the following questions : 10x3=30
o 2RPIRY O fr

(a) What is mean? Write its two merits.
Determine mean of the following data :

2+2+6=10
AN o o1 % 2 9 1 R | O SR 11
W Lo N N ﬁ;f;;[ 39 :
e \ Class Interval Frequency
g e S RIRASIEI)
e . 90-99 5
A 80-89 6
E Nag® 70-79 9
60-69 15
50-59 7
40-49 5
30-39 3
N =50

Or / &[T

(p) What is averagve deviation? Determine
average deviation of the following table :

2+8=10
oo Rpfe 2 o O 1 % Rpfe
fAefg 41
Class Interval Frequency
oI SEEE RIAASIAR
26-28 2
23-25 3
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(6)

Class Interval Frequency
1 &I RASIER
20-22 5
17-19 7
14-16 10
11-13 5
8-10 6
5-7 2

N =40

(d) Determne combined standard deviation

(37

Or / 9341

What is histogram? Draw a histogram
and a frequency polygon on the same
axis from the following table (use graph
paper) : 2+4+4=10
ey 7 @R OfeeR A4 9T THIA©
9Bl ey SF bl JREEO TRPE S _
1 (2 Flor 2R IRAT) =

(e)

Class Interval Frequency =
CIT ST RESISE z
6064 2 AN
55-59 4 e
50-54 8 N
45-49 10
4044 6
35-39 4
30-34 4
L2520 2
N =40
( Continued ) 24A/706

—

from the following data : 10
T O {1 RS T RpiS AT 3 -
First Group Second Group
3 el 1281 7
N 40 20
M 25 15
SD 10 5
What is percentile rank? Determine
PR75 and PR94 from the following
table : 2+4+4=10
o T fF 2 ©ord OIfeieIed “91 PR75 W%
PR94 Ay <1 :
Class Interval Frequency
4 T IR
90-94 2
85-89 5
80-84 5
75-79 12
70-74 20
65-69 16
60-64 7
55-59 5
50-54 3
N =75
( Turn Over )




(8)

Or / 5241

() Mean of a normal distribution is 56 and
standard deviation is 6. Assuming the
distribution to be normal, answer the
following : 5+5=10
QT 93 FelF g a6 25 56 o<
T Rpfe 25 6. fiesaem  epFTSIA
e gfét «fiter were framiyes Tev fim -

() Calculate the percentage of scores
falling between 44 and 62.
44 IIF 627 Ao 491 *oF< AR [T
1

(i) Find out the percentage of cases
above 51.

513 @779 *rogq ! Ay 40 |

* & K
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